



ISSN 2231-346X

(Print)

JUSPS-A Vol. 30(3), 211-217 (2018). Periodicity-Monthly

Section A

(Online)



ISSN 2319-8044

9 772319 804006



Estd. 1989

JOURNAL OF ULTRA SCIENTIST OF PHYSICAL SCIENCES
 An International Open Free Access Peer Reviewed Research Journal of Mathematics
 website:- www.ultrascientist.org

On Symmetric Circulant Fuzzy Matrices¹K.GUNASEKARAN, ²M. KAVITHA and ³K. RAJESHKANNAN¹Associate Professor, ²Research Scholar, (India) ³Research Scholar (Autonomous)^{1,2}Department of Mathematics, Government Arts College (Auto), Kumbakonam, Tamil Nadu (India)³Department of Mathematics, A. V.C. College (Autonomous), Mannampandal, Tamil Nadu (India)Corresponding Author Email: rakkirajesh1986@gmail.com<http://dx.doi.org/10.22147/jusps-A/300306>

Acceptance Date 28th January, 2018,

Online Publication Date 2nd March, 2018

Abstract

The basic concepts, theorems and properties of circulant fuzzy matrix are introduced also we discussed k- symmetric circulant fuzzy and s- symmetric circulant fuzzy matrices with examples.

Key words : Circulant Fuzzy matrix, Symmetric Circulant Fuzzy matrix, s- Symmetric Circulant Fuzzy matrix, k- Symmetric Circulant Fuzzy matrix.

AMS CLASSIFICATIONS: 15B05, 15A09**Introduction**

A square matrix A is Symmetric if $A=A^T$ and k-symmetric if $A=KAK^T$ ^{2,3,4,5,7} Any matrix with entries in $[0,1]$ and matrix operator defined by fuzzy logical operators are called fuzzy matrix ^{1,8}. Symmetric, k-symmetric circulant and s-Symmetric circulant are defined in the year 2016 ⁹. Throughout in this paper all matrices considered over a fuzzy algebra F with support $[0, 1]$ under max- min operations for $a, b \in F$, $a+ b = \max \{a, b\}$, $a \cdot b = \min \{a, b\}$. The concept of s- symmetric matrices, k- symmetric matrices was introduced in ^{1,4}. In this paper our intension k- symmetric circulant fuzzy and s- symmetric circulant matrices are discussed.

Preliminaries and Notations :

For any $A \in F^{n \times n}$ is a fuzzy circulant matrix then A^T , A^S are transpose, secondary transpose respectively. Let k be a fixed product of disjoint transposition in S_n and K be the permutation matrix associated with k, V is a

permutation matrix with units in the secondary diagonal. Clearly $K^2=I, K^T=K, V^2=I, V^T=V$.

Definition 1.1 Circulant Fuzzy Matrix (Cfm) :

For any given $a_0, a_1, \dots, a_{n-1} \in F^{n \times n}$ be the Fuzzy circulant matrix $A = (a_{ij})_{n \times n}$ is defined by $(A_{ij}) = (a_{j-1(\text{mod } n)})$

$$A = \begin{bmatrix} a_0 & a_1 & a_2 & \dots & a_{n-1} \\ a_{n-1} & a_0 & a_1 & \dots & a_{n-2} \\ a_{n-2} & a_{n-1} & a_0 & \dots & a_{n-3} \\ \vdots & \vdots & \vdots & \dots & \vdots \\ a_1 & a_2 & a_3 & \dots & a_0 \end{bmatrix}$$

Definition 1.2 Symmetric Circulant Fuzzy Matrix (SCFM) :

A matrix $A \in F^{n \times n}$ is said to be symmetric circulant fuzzy matrix if $A = A^T$

Example 2.1

$$A = \begin{bmatrix} 0.1 & 0.3 & 0.3 \\ 0.3 & 0.1 & 0.3 \\ 0.3 & 0.3 & 0.1 \end{bmatrix} \quad A^T = \begin{bmatrix} 0.1 & 0.3 & 0.3 \\ 0.3 & 0.1 & 0.3 \\ 0.3 & 0.3 & 0.1 \end{bmatrix}$$

Definition 1.3 k – Symmetric Circulant fuzzy matrix (k-SCFM) :

A matrix $A \in F^{n \times n}$ is said to be k - symmetric circulant fuzzy matrix if $A = KA^TK$ where K be the permutation associated with k.

Example 2.2

$$A = \begin{bmatrix} 0.3 & 0.5 & 0.5 \\ 0.5 & 0.3 & 0.5 \\ 0.5 & 0.5 & 0.3 \end{bmatrix} \quad KA^TK = \begin{bmatrix} 0.3 & 0.5 & 0.5 \\ 0.5 & 0.3 & 0.5 \\ 0.5 & 0.5 & 0.3 \end{bmatrix} \quad \therefore A = KA^TK$$

Theorem 3.1

Let $A \in F^{n \times n}$ is said to be k - symmetric circulant fuzzy matrix then $A = KA^TK$

Proof: A matrix $A \in F^{n \times n}$ is said to be k -symmetric circulant fuzzy matrix if $A = KA^TK$ To prove A^T is said to be k - symmetric circulant fuzzy matrix.

$$\begin{aligned} A^T &= (KA^TK)^T \\ &= K^T(A^T)^TK^T \\ A^T &= KAK \end{aligned}$$

Theorem 3.2

Let $A \in F^{n \times n}$ be k - symmetric circulant fuzzy matrix if A^{-1} is circulant fuzzy matrix then A^{-1} is also k - symmetric circulant fuzzy matrix.

Proof: A matrix $A \in F^{n \times n}$ is said to be k -symmetric circulant fuzzy matrix if $A = KA^TK$ To Prove A^{-1} is k - symmetric circulant fuzzy matrix.

$$\begin{aligned} A^{-1} &= (KA^TK)^{-1} \\ &= K^{-1}(A^T)^{-1}K^{-1} \\ &= K(A^T)^{-1}K \\ A^{-1} &= K(A^{-1})^TK \end{aligned}$$

Theorem 3.3

If A and B are k - symmetric circulant fuzzy matrix then A + B is also k-symmetric circulant fuzzy matrix.

Proof: Since A and B are k - symmetric circulant fuzzy matrix then

$$A = KA^T K \text{ and } B = KB^T K$$

To prove A+B is k - symmetric circulant fuzzy matrix.

$$\begin{aligned} A+B &= KA^T K + KB^T K \\ &= K [A^T + B^T] K \\ A+B &= K [A+B]^T K \end{aligned}$$

Theorem 3.4

If A and B are k - symmetric circulant fuzzy matrix then AB is also k - symmetric circulant fuzzy matrix.

Proof: Since A and B are k - symmetric circulant fuzzy matrix then

$$A = KA^T K \text{ and } B = KB^T K$$

To prove AB is k - symmetric circulant fuzzy matrix.

$$\begin{aligned} AB &= (KA^T K) (KB^T K) \\ &= (KA^T) K^2 (B^T K) \\ &= KA^T B^T K \\ &= K (BA)^T K \\ AB &= K (AB)^T K \end{aligned}$$

Theorem 3.5

Let $A \in F^{n \times n}$ be k - symmetric circulant fuzzy matrix and K is the permutation matrix then KA is also k - symmetric circulant fuzzy matrix.

Proof: Since A and A^T are k - symmetric circulant fuzzy matrices then

$$A = KA^T K, A^T = KAK$$

To Prove KA is k - symmetric circulant fuzzy matrix.

$$\begin{aligned} KA &= K(KA^T K) \\ &= KK^T A^T K \\ &= K (AK)^T K \\ KA &= K (KA)^T K \end{aligned}$$

Theorem 3.6

Let $A \in F^{n \times n}$ be k - symmetric circulant fuzzy matrix and K is the permutation matrix then AK is also k - Symmetric circulant fuzzy matrix.

Proof: Since A and A^T are k - symmetric circulant fuzzy matrices then

$$A = KA^T K, A^T = KAK$$

To Prove AK is k - symmetric circulant fuzzy matrix.

$$\begin{aligned} AK &= (KA^T K)K \\ &= KA^T K^T K \\ &= K (KA)^T K \\ AK &= K (AK)^T K \end{aligned}$$

Theorem 3.7

If $A \in F^{n \times n}$ be k - symmetric circulant fuzzy matrix then AA^T and $A^T A$ is also k - symmetric circulant fuzzy matrix.

Proof: Since A and A^T are k - symmetric circulant fuzzy matrices then

$$A = KA^T K, A^T = KAK.$$

To Prove AA^T is k -symmetric circulant fuzzy matrix

$$\begin{aligned} AA^T &= (KA^T K)(KAK) \\ &= K(A^T A)K \\ AA^T &= K(AA^T)^T K \end{aligned}$$

Similarly We will prove $A^T A$ is also k -symmetric circulant fuzzy matrix.

Theorem 3.8

If $A \in F^{n \times n}$ be k -symmetric circulant fuzzy matrix then $A+A^T$ is also k -symmetric circulant fuzzy matrix.

Proof: Since A and A^T are k -symmetric circulant fuzzy matrices then

$$A = KA^T K, A^T = KAK.$$

To Prove $A+A^T$ is k -symmetric circulant fuzzy matrix

$$\begin{aligned} A+A^T &= KA^T K + KAK \\ &= K(A^T + A)K \\ A+A^T &= K(A+A^T)^T K \end{aligned}$$

Theorem 3.9

If A and B are k -symmetric circulant fuzzy matrices then $AB+BA$ is also k -symmetric circulant fuzzy matrix

Proof: Given A and B are k -symmetric circulant fuzzy matrices then

$$A = KA^T K \text{ and } B = KB^T K$$

To prove $AB+BA$ is k -symmetric circulant fuzzy matrix.

$$\begin{aligned} AB + BA &= (KA^T K)(KB^T K) + (KB^T K)(KA^T K) \\ &= (KA^T)K^2(B^T K) + (KB^T)K^2(A^T B) \\ &= KA^T B^T K + KB^T A^T K \\ &= K(BA)^T K + K(AB)^T K \\ &= K(AB+BA)^T K \end{aligned}$$

Theorem 3.10

Let A is k -symmetric circulant fuzzy matrix and if $\alpha, \beta \geq 0$ are scalar Fuzzy and $\alpha+\beta=1$ then $\alpha A+\beta B$ is also k -symmetric circulant fuzzy matrix.

Proof: Since A and B are k -symmetric circulant fuzzy matrices then

$$A = KA^T K \text{ and } B = KB^T K$$

To prove $\alpha A+\beta B = \alpha KA^T K + \beta KB^T K$

$$\begin{aligned} &= K[\alpha A^T + \beta B^T]K \\ &= K[\alpha A + \beta B]^T K \end{aligned}$$

Remarks: If $\alpha, \beta \geq 0$ and $\alpha+\beta=1$ with $\alpha A+\beta B$ are symmetric circulant fuzzy matrix so the set of all symmetric circulant fuzzy matrices over the permutation k is a convex set.

Theorem 3.11

If A_1 and A_2 are k -symmetric circulant fuzzy matrices then $(A_1^T A_2 A_1)$ and $(A_2^T A_1 A_2)$ are also k -symmetric circulant fuzzy matrix.

Proof: Since A_1 and A_2 are k -symmetric circulant fuzzy matrices then

$A_1 = KA_1^T K$ and $A_2 = KA_2^T K$. Since A_1^T and A_2^T are also k -symmetric circulant fuzzy matrices then $A_1^T = KA_1 K$

and $A_2^T = KA_2K$

To prove $A_1^T A_2 A_1$ is k-symmetric circulant fuzzy matrix.

$$\begin{aligned} A_1^T A_2 A_1 &= (KA_1K)(KA_2^T K)(KA_1^T K) \\ &= KA_1K^2 A_2^T K^2 A_1^T K \\ &= K(A_1 A_2^T A_1^T)K \\ &= K(A_1^T A_2 A_1)^T K \end{aligned}$$

Similarly We will prove $A_2^T A_1 A_2$ is also k-symmetric circulant fuzzy matrix.

Definition 1.3 s–Symmetric Circulant fuzzy matrix (s-SCFM) :

A matrix $A \in F^{n \times n}$ be s - symmetric circulant fuzzy matrix if $A=A^S=VA^T V$ where V is a permutation matrix with units in the secondary diagonal.

Example 2.3

$$A = \begin{bmatrix} 0.1 & 0.2 \\ 0.2 & 0.1 \end{bmatrix}, V = \begin{bmatrix} 0 & 1 \\ 1 & 0 \end{bmatrix}, A^T = \begin{bmatrix} 0.1 & 0.2 \\ 0.2 & 0.1 \end{bmatrix}, A^S = \begin{bmatrix} 0.1 & 0.2 \\ 0.2 & 0.1 \end{bmatrix}, VA^T V = \begin{bmatrix} 0.1 & 0.2 \\ 0.2 & 0.1 \end{bmatrix}$$

Theorem 3.12

A matrix $A \in F^{n \times n}$ be s - symmetric circulant fuzzy matrix then A^T is also s - symmetric circulant fuzzy matrix.

Proof: Since A is s - symmetric circulant fuzzy matrix then $A=A^S=VA^T V$

To prove A^T is s - symmetric circulant fuzzy matrix.

$$\begin{aligned} A &= A^S \\ A^T &= (VA^T V)^T \\ &= V(A^T)^T V \\ &= V A V \\ A^T &= VA^S V \end{aligned}$$

Theorem 3.13

If A and B are s - symmetric circulant fuzzy matrices then $(A+B)$ is also s - symmetric circulant fuzzy matrix.

Proof: Since A and B are s - symmetric circulant fuzzy matrices then

$$A=A^S=VA^T V \text{ and } B=B^S=VB^T V$$

To prove $(A+B)$ is s - symmetric circulant fuzzy matrix.

$$\begin{aligned} (A+B)^S &= (VA^T V + VB^T V)^S \\ &= V(A^T)^S V + V(B^T)^S V \\ &= V[(A^S)^T + (B^S)^T] V \\ &= V[A^T + B^T] V \\ (A+B)^S &= V[A+B]^T V = A+B \end{aligned}$$

Theorem 3.14

If A and B are s - symmetric circulant fuzzy matrices then (AB) is also s - symmetric circulant fuzzy matrix.

Proof: Since A and B are s - symmetric circulant fuzzy matrices then

$$A=A^S=VA^T V \text{ and } B=B^S=VB^T V.$$

To prove (AB) is s - symmetric circulant fuzzy matrix.

$$\begin{aligned} (AB)^S &= (VA^T V VB^T V)^S \\ &= [VA^T V^2 B^T V]^S \\ &= [VA^T B^T V]^S \\ &= [V(AB)^T V]^S \\ &= V [(AB)^T]^S V \\ &= V [(AB)^S]^T V \\ &= V (AB)^T V \end{aligned}$$

Theorem 3.15

A matrix $A \in F^{n \times n}$ be s - symmetric circulant fuzzy matrix and V is a permutation matrix with units in the secondary diagonal then VA and AV also s - symmetric circulant fuzzy matrix.

Proof: Since A is s - symmetric circulant fuzzy matrix then $A=A^S=VA^T V$

To prove VA is s - symmetric circulant fuzzy matrix.

$$\begin{aligned} VA &= VA^S \\ &= V (VA^T V) \\ &= V A^T V V \\ &= V A^T V^T V \\ &= V (VA)^T V \end{aligned}$$

Similarly we will prove AV is s - symmetric circulant fuzzy matrix.

Theorem 3.16

If $A \in F^{n \times n}$ be s - symmetric circulant fuzzy matrix then AA^T and $A^T A$ are also s - symmetric circulant fuzzy matrix.

Proof: A matrix A is said to be s - symmetric circulant fuzzy matrix then $A=A^S=VA^T V$.

Since A^T is s - symmetric circulant fuzzy matrix then $A=A^T=VA^S V$

To prove AA^T is s - symmetric circulant fuzzy matrix

$$\begin{aligned} AA^T &= (AA^T)^S \\ &= (A^T)^S A^S \\ &= (A^S)^T A^S \\ &= (VA^T V)^T (VA^T V) \\ &= (V (A^T)^T V)(VA^T V) \\ &= V AA^T V \\ &= V (A^T A)^T V \\ AA^T &= (AA^T)^S = V (AA^T)^T V \end{aligned}$$

Similarly we will prove $A^T A = V (A^T A)^T V$

Theorem 3.17

If $A \in F^{n \times n}$ be s - symmetric circulant fuzzy matrix then $A+A^T$ is also s - symmetric circulant fuzzy matrix.

Proof: A matrix A is said to be s - symmetric circulant fuzzy matrix then $A=A^S=VA^T V$. To Prove $A + A^T = (A + A^T)^S$

$$\begin{aligned}
 &= A^S + (A^S)^T \\
 &= VA^T V + (VA^T V)^T \\
 &= VA^T V + V(A^T)^T V \\
 &= VA^T V + VAV \\
 &= V[A^T + A]V \\
 &= V[A + A^T]V
 \end{aligned}$$

Theorem 3.18

If A and B are s - symmetric circulant fuzzy matrix then AB + BA is also s - symmetric circulant fuzzy matrix.

Proof: A matrix A is said to be s - symmetric circulant fuzzy matrix then $A = A^S = VA^T V$.

To prove $(AB+BA)^S = [(VA^T V)(VB^T V) + (VB^T V)(VA^T V)]^S$

$$\begin{aligned}
 &= [V(A^T B^T)V + V(B^T A^T)V]^S \\
 &= [V(BA)^T V + V(AB)^T V]^S \\
 &= [V(BA)^T V]^S + [V(AB)^T V]^S \\
 &= V\{[(BA)^S]^T + [(AB)^S]^T\}V \\
 &= V[(AB)^T + (BA)^T]V \\
 &= V(AB + BA)^T V
 \end{aligned}$$

Theorem 3.19

Let A is s-symmetric circulant fuzzy matrix and if $\alpha, \beta \geq 0$ are scalar Fuzzy and $\alpha + \beta = 1$ then $\alpha A + \beta B$ is also s-symmetric circulant fuzzy matrix.

Proof: Since A and B are s-symmetric circulant fuzzy matrices then

$$\begin{aligned}
 A = A^S = VA^T V \quad \text{and} \quad B = B^S = VB^T V \\
 \text{To prove } (\alpha A + \beta B)^S = \alpha (VA^T V) + \beta (VB^T V) \\
 = V[\alpha A^T + \beta B^T]V \\
 = V[\alpha A + \beta B]^T
 \end{aligned}$$

References

1. Allahviranloo. T and S. Salah shour, “Fuzzy Symmetric solutions of Fuzzy linear systems”, Journal of computational and applied mathematics, Vol. 235, no. 16, 4545-4553, (2011).
2. Ann Lec. Secondary Symmetric and skew symmetric secondary or diagonal matrices; (i) period, Math Hungary; 7, 63-70 (1976).
3. Dubois. D. and Prade.H, “Operations on Fuzzy numbers”, Int. Journal of systems science, Vol. 9, no.6, pp. 613-626, (1978).
4. Gunasekaran. K., Mohana. N, “k- symmetric Double stochastic, s- symmetric Double stochastic, s- k symmetric Double stochastic”, International journal of Engineering Science Invention, Vol 3, Issue 8, (2014).
5. Hazewinkel, Michiel, ed. (2001), “Symmetric matrix”, Encyclopedia of Mathematics, Springer, ISBN978- 1-55609- 010- 4.
6. Krishnamoorthy. S, Gunasekaran. K, Mohana. N, “Characterization and theorem on doubly stochastic matrices” Antarctica Journal of Mathematics, 11(5) (2014).
7. Meenakshi. A. R, Fuzzy Matrix; Theory and Applications, MJP Publishers, Chennai (2008).
8. Rajesh kannan. K, Elumalai. N, “k- symmetric circulant, s- symmetric circulant and s-k symmetric circulant matrices”, Journal of ultra scientist of physical sciences, Vol. 28(6), 322-327 (2016).